Unit16  If it rains, will it be called off?

1. ~E5
In Unit 15, “~7=5" was a indicative phrase implying that a thing or an action always happens. However, “(%

L)~7=5" in this Unit implies a thing or an action uncertain to happen or an uncertain condition.
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Example) (£L) ﬁﬁ‘Vof [ YN /\~’\f\';~ét?£ﬂ%/ (If it rains, we won't have a barbeque.)
Example2) (£L) 0L WIENH o720, 7T=A %ﬂ\\f(f:“ii\\o (If you have any questions, please
feel free to ask.)

Example3) %ﬁ\of:%\ T7arvE-olF Ly, (f you feel cold, | will lturn on the heater?)
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Example4) X (L) 11H b, St é@"ﬁ\ BOET . = Unit15

As Ex.4 shows, this expression cannot be used under certain conditions.

In addition, other subjunctive expressions have the restriction that they cannot be followed by sentences
expressing a will, hope, command, request, but “~7=5" does not.
Besides the above, although this textbook does not cover it; we have another subjunctive expression “-~(4".

~|£” can be replaced with “~7=5,"

Exampleb) %ﬁ‘l‘z’%‘of Bors, o MMXDT ’\ﬁ*i%h (If it rains, we are not going hiking.)
Example6) %f)\ﬁéﬂ L oMX T ’\4T):?iﬁ‘ho (If it rains, we are not going hiking.)

2. ~T¢

This expression is used for stating that a thing happened contrary to general expectations.
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Example) r'ﬁﬁ‘ of% 7 — %Li’s‘“ (Even if it rains, we will play soccer.)

ExampleZ) El %ﬁa jL’(% o) — %;\J—_% NE4 A, (Even though | practice soccer every day, |
cannot play well.)

Example3) iﬁ%gﬁféggiﬁib éé\\EE%fAJO (Even if | had money, | wouldn't buy it.)

Example4) :0)%n%%(iﬁ%ﬁiﬁ%f’ﬁ%/?”)i@‘o %%T"S“f)\%o (This question is easy fo solve without
thinking. It's so easy.)

Example5) (gﬂLlErI:(i?Xl\/C“’s“) ggﬁ“%(_’i%\ %?ﬁ?tﬁ‘h‘%iiﬁ“)i%ho ((Tomorrow | have a fest.)
Even though | have a headache, | have to study.)

Example6) gﬁgﬁ Z°Z’\%?%E?i%@o (Even if | have fime, | won't go anywhere.)

Example7) é%%f‘%\ Sf%&’)tf\ \%%ﬁ“%‘)i’s"o (There are some kanji that even Japanese cannot

read.)
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